
Brenda’s Boring Egg
Addition to 10 Colour by Number

yellow = 1, 2

orange = 3, 4

brown = 5, 6

green = 7, 8

light blue = 9

dark blue = 10

1 + 0   

0 +
 1  
 

0 
+ 

1   

2 + 1   

2 +
 2 

  

5 + 2   
4 + 3   

6 + 1   6 + 2   

3 + 2   
3 + 3  

9 
+ 

0 
  

8 + 1   

7 +
 2 

  

5 + 4   

6 + 3   9 + 1   

8 + 2   
7 + 3   

5 + 5   

6 + 4   

Solve the calculations to work out which colours to use.
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Brenda’s Boring Egg
Addition to 10 Colour by Number
Solve the calculations to work out which colours to use.

yellow = 1 

cream = 2

purple = 3, 4

green = 5, 6

dark brown = 7, 8

light brown = 9

blue = 10

1 + 0  

1 + 1 1 +
 1 1 + 1 

2 + 0 

4 + 1 

3 + 1 

6 + 3 7 + 2 

6 + 4 

5 + 4 

4 + 2 3 + 3 2 + 1 

1 + 2 

8 
+ 

1 

2 + 2

6 + 1 

4 + 3 

5 + 3 

6 + 2 

5 + 5 

10 + 0 
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